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Aptitude Test for Architecture
Mathematics & Aesthetic Sensitivity 	 –	 Part A	 :	 Q. 1 to 100
Drawing Aptitude				    –	 Part B	 :	 Q. 1 & 2

PART-A / ^mJ-A
MATHEMATICS & AESTHETIC SENSITIVITY / J{UV Am¡a EñWo{Q>H$ g|{gQ>r{dQ>r

001.	 Let a mapping f be defined from ,
2
1
2
1-8 B 

to ,
4
1
4
1-8 B. Which one of the following f

	 defines a one-one onto mapping?

	 (A)	 f (x) = x	 (B)	 f (x) = 
2
1 x

	 (C)	 f (x) = x 2	 (D)	 f (x) = x
2
1

002.	 For any two sets A and B the set 

(ABc)c  (AcB)c is equal to :

	 (A)	 φ	 (B)	 Universal set

	 (C)	 AB	 (D)	 (AB)c

001.	 ‘mZ br{OE ,
2
1
2
1-8 B go ,

4
1
4
1-8 B na à{V{MÌU 

	 f n[a^m{fV h¡& {ZåZ{b{IV f ‘| go H$m¡Z EH¡$H$ 

AmÀN>mXr à{V{MÌU h¡?

	 (A)	 f (x) = x	 (B)	 f (x) = 
2
1 x

	 (C)	 f (x) = x 2	 (D)	 f (x) = x
2
1

002.	 {H$Ýht Xmo g‘wÀM¶ A Am¡a B Ho$ {bE g‘wÀM¶ 

(ABc)c  (AcB)c ~am~a h¡…

	 (A)	 φ	 (B)	 g‘îQ>r¶ g‘wÀM¶

	 (C)	 AB	 (D)	 (AB)c
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003.	 The relation R defined on the set of all real 

numbers by xRy such that 3x y #-  is :

	 (A)	 Reflexive and symmetric only	

	 (B)	 Reflexive and transitive only

	 (C)	 Symmetric and transitive only

	 (D)	 Equivalence relation

004.	 If a
6 5

6 5
=

-

+
 and b

6 5

6 5
=

+

-

	 then 
a b

1 1
2 2
+  is equal to:

	 (A)	 480	 (B)	 482

	 (C)	 484	 (D)	 486

005.	 If a and b are the roots of the equation 

	 x2 – x + 1 = 0 then 2018 2018a b+  is equal 

to:

	 (A)	 2	 (B)	 1

	 (C)	 –1	 (D)	 –2

006.	 The solutions of the equations 

,
y
x

x

y

3
10+ =  x + y = 10 are (x, y)

	 equal to:

	 (A)	 (9, 1) only	

	 (B)	 (1, 9) only

	 (C)	 (1, 1) and (9, 9)

	 (D)	 (9, 1) and (1, 9)

003.	 g^r dmñV{dH$ g§»¶mAm| Ho$ g‘wÀM¶ na gå~ÝY 

R, xRy Bg àH$ma n[a^m{fV h¡ {H$ 3x y #-  

Vmo ¶h gå~ÝY h¡…

	 (A)	 Ho$db ñdVwë¶ Am¡a g‘{‘V	

	 (B)	 Ho$db ñdVwë¶ Am¡a g§H«$m‘H$

	 (C)	 Ho$db g‘{‘V Am¡a g§H«$m‘H$

	 (D)	 Vwë¶H$mar

004.	 ¶{X a
6 5

6 5
=

-

+
 Am¡a b

6 5

6 5
=

+

-
 

	 Vmo 
a b

1 1
2 2
+  ~am~a h¡…

	 (A)	 480	 (B)	 482

	 (C)	 484	 (D)	 486

005.	 ¶{X a  Am¡a b g‘rH$aU x2 – x + 1 = 0 Ho$ ‘yb hm| 

Vmo 2018 2018a b+  ~am~a h¡…

	 (A)	 2	 (B)	 1

	 (C)	 –1	 (D)	 –2

006.	 g‘rH$aUm| ,
y
x

x

y

3
10+ =  x + y = 10 Ho$ 

hb h¡ (x, y) ~am~a…

	 (A)	 Ho$db (9, 1)	

	 (B)	 Ho$db (1, 9)

	 (C)	 (1, 1) Am¡a (9, 9)

	 (D)	 (9, 1) Am¡a (1, 9)
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007.	 If the ratio of sums of two arithmetic series is 

3n + 5 : 6n – 2 the ratio of their 13th terms is

	 (A)	 37 : 68	 (B)	 41 : 70

	 (C)	 43 : 80	 (D)	 20 : 37

008.	 The sum of the series 12 – 22 + 32 – 42 + 52 – 62 

	 + …. + 20072 – 20082  is :

	 (A)	 (2008 2007)
2
1 #- 	

	 (B)	 (2008 2009)
2
1 #-

	 (C)	 2008 2007#

	 (D)	 2008 2007#-

009.	 The integral part of (8 + 3 7 )n, where n is a 

positive integer, is

	 (A)	 even integer	 (B)	 odd integer

	 (C)	 prime	 (D)	 composite

010.	 The sum of the series 1
! 3! 4!

......
2
2 3 43 3 3

+ + + +  

is

	 (A)	 e3	 (B)	 e3–1

	 (C)	 5e	 (D)	 5e-1

011.	 If four dice are thrown together then the 

probability that the sum of the numbers 

appearing on them is 13, is:

	 (A)	 216
5 	 (B)	 216

11

	 (C)	 324
35 	 (D)	 432

11

007.	 ¶{X Xmo g‘m§Va lo{U¶m| Ho$ n nXm| Ho$ ¶moJm| H$m AZwnmV 

3n + 5 : 6n – 2 hmo Vmo CZHo$ 13 do nXm| H$m AZwnmV 

h¡…

	 (A)	 37 : 68	 (B)	 41 : 70

	 (C)	 43 : 80	 (D)	 20 : 37

008.	 loUr 12 – 22 + 32 – 42 + 52 – 62 + ….  + 20072 

 –  20082  H$m ¶moJ’$b h¡…

	 (A)	 (2008 2007)
2
1 #- 	

	 (B)	 (2008 2009)
2
1 #-

	 (C)	 2008 2007#

	 (D)	 2008 2007#-

009.	 (8 + 3 7 )n , Ohm° n EH$ YZmË‘H$ nyUmªH$ h¡, H$m 

h¡…

	 (A)	 g‘nyUmªH$	 (B)	 {df‘ nyUmªH$

	 (C)	 A^mÁ¶	 (D)	 ^mÁ¶

010.	 loUr 1
! 3! 4!

......
2
2 3 43 3 3

+ + + +  H$m ¶moJ’$b h¡…

	 (A)	 e3	 (B)	 e3–1

	 (C)	 5e	 (D)	 5e-1

011.	 ¶{X Mma nm§go EH$ gmW ’o$Ho$ Om¶ Vmo CZ na H$s 

g§»¶mAm| Ho$ ¶moJ’$b H$mo 13 hmoZo H$s àm{¶H$Vm h¡…

	 (A)	 216
5 	 (B)	 216

11

	 (C)	 324
35 	 (D)	 432

11
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012.	 If two events A and B are independent and 

,
2
1P(A B), =  P(B) = 

4
1 , then P(A) is equal 

to:

	 (A)	 8
1 	 (B)	 5

1

	 (C)	 3
1 	 (D)	 3

2

013.	 Probabilities to solve a certain problem by 

A and B are respectively 3
1  and 2

1 . The 

probability that the problem be solved, is:

	 (A)	 2
1 	 (B)	 3

1

	 (C)	 3
2 	 (D)	 6

1

014.	 6 boys and 6 girls sit in a row at random. The 

probability that all boys sit together is:

	 (A)	 432
1 	 (B)	 431

12

	 (C)	 132
1 	 (D)	 132

7

015.	 The number of real solutions of the equation 

cos7x + sin4x –1 = 0  in the interval ,r r-8 B

	 is :

	 (A)	 1	 (B)	 3

	 (C)	 4	 (D)	 7

016.	 The solution of the equation 

	 tan-1 (2x) + tan-1 (3x) = 4
r   is :

	 (A)	 1	 (B)	 –1

	 (C)	 6
1 	 (D)	 3

1

012.	 ¶{X Xmo KQ>ZmE§ A Am¡a B ñdV§Ì hm| Am¡a 

,
2
1P(A B), =  P(B) = 

4
1 , Vmo P(A) ~am~a 

h¡ …	

	 (A)	 8
1 	 (B)	 5

1

	 (C)	 3
1 	 (D)	 3

2

013.	 A Am¡a B Ûmam {H$gr g‘ñ¶m H$mo hb H$aZo H$s 

àm{¶H$Vm H«$‘e…  3
1  Am¡a 2

1  h¡& g‘ñ¶m H$mo hb 

hmo OmZo H$s àm{¶H$Vm h¡…

	 (A)	 2
1 	 (B)	 3

1

	 (C)	 3
2 	 (D)	 6

1

014.	 6 b‹S>Ho$ VWm 6 b‹S>{H$¶m§ ¶ÑÀN>¶m EH$ n§p³V ‘| ~¡R>o 

h¢& g^r b‹S>H$m| Ho$ EH$ gmW ~¡R>Zo H$s àm{¶H$Vm h¡…

	 (A)	 432
1 	 (B)	 431

12

	 (C)	 132
1 	 (D)	 132

7

015.	 g‘rH$aU cos7x + sin4x –1 = 0  Ho$ A§Vamb 

,r r-8 B ‘| dmñV{dH$ hbm| H$s g§»¶m h¡…

	 (A)	 1	 (B)	 3

	 (C)	 4	 (D)	 7

016.	 g‘rH$aU tan-1 (2x) + tan-1 (3x) = 4
r  H$m hb h¡…

	 (A)	 1	 (B)	 –1

	 (C)	 6
1 	 (D)	 3

1
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017.	 If sides of a triangle are 30 cm, 25 cm and 

11 cm, its radius of inscribed circle is:

	 (A)	 2 cm.	 (B)	 3 cm.

	 (C)	 4 cm.	 (D)	 5 cm.

018.	 If 1n Ne - $ ., then the value of 

	 cos sinn i n1
nr r+ +b l  

	 cos sinn i n1
nr r+ -
-

b l  is :

	 (A)	 – 2	 (B)	 – 1

	 (C)	 2	 (D)	 1

019.	 If ( )i a ib3 2
2018 2015+ = +` j  then the 

value of  a b2 2+  is

	 (A)	 1	 (B)	 32

	 (C)	 16	 (D)	 64

020.	 The solution of the matrix equation 

	

	
2
1
1

1
1
1

3
1
1

x
y
z

9
6
2

-

-

=

R

T

S
S
SS

R

T

S
S
SS

R

T

S
S
SS

V

X

W
W
WW

V

X

W
W
WW

V

X

W
W
WW

	 is (x, y, z) = 

	 (A)	 (3, 2, 1)	 (B)	 (2, 1, 0)

	 (C)	 (1, 2, 3)	 (D)	 (2, 3, 1)

017.	 ¶{X {H$gr {Ì^wO H$s ^wOmE§ 30 go‘r, 25 go‘r Am¡a 

11 go‘r hm| Vmo BgHo$ A§V…d¥Îm H$s {ÌÁ¶m h¡…

	 (A)	 2 go‘r	 (B)	 3 go‘r

	 (C)	 4 go‘r	 (D)	 5 go‘r

018.	 ¶{X 1n Ne - $ . Vmo 

	 cos sinn i n1
nr r+ +b l  

	 cos sinn i n1
nr r+ -
-

b l  H$m ‘mZ h¡…

	 (A)	 – 2	 (B)	 – 1

	 (C)	 2	 (D)	 1

019.	 ¶{X ( )i a ib3 2
2018 2015+ = +` j  Vmo 

a b2 2+  H$m ‘mZ h¡:

	 (A)	 1	 (B)	 32

	 (C)	 16	 (D)	 64

020.	 Amì¶yh g‘rH$aU 

	

	
2
1
1

1
1
1

3
1
1

x
y
z

9
6
2

-

-

=

R

T

S
S
SS

R

T

S
S
SS

R

T

S
S
SS

V

X

W
W
WW

V

X

W
W
WW

V

X

W
W
WW

	 H$m hb h¡ (x, y, z) = 

	 (A)	 (3, 2, 1)	 (B)	 (2, 1, 0)

	 (C)	 (1, 2, 3)	 (D)	 (2, 3, 1)
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021.	 If a + b + c  = 0, then one of the solutions of

	
a x
c
b

c
b x
a

b
a

c x

-

-

-

  = 0 is :

	 (A)	 0	 (B)	 a + b – c

	 (C)	 a – b + c	 (D)	 a + b

022.	 If ( )y b m x a+ = +1  and ( )y b m x a+ = +2  

are two tangents to the parabola y ax42 = , 

then

	 (A)	 m m 1=21 	

	 (B)	 1m m =-21

	 (C)	 0m m+ =21 	

	 (D)	 1m m+ =-21

023.	 Two forces 4 3i j k+ -t t t  and i j k3 + -t t t  

are acting on a particle and the particle is 

displaced from the point 3i j k2+ +t t t  to the 

point i j k5 4+ +t t t . The total work done by 

the forces is:

	 (A)	 20 units$	 (B)	 30 units

	 (C)	 40 units$	 (D)	 50 units

024.	 If the vectors mi j k3 4+ +t t t, i j mk3 + -t t t  

and i mj k6- + +t t t  are coplanar, then the 

value of m is

	 (A)	 – 1	 (B)	 0

	 (C)	 1	 (D)	 2

021.	 ¶{X a + b + c  = 0  Vmo 

	
a x
c
b

c
b x
a

b
a

c x

-

-

-

  = 0 H$m EH$ hb h¡:

	 (A)	 0	 (B)	 a + b – c

	 (C)	 a – b + c	 (D)	 a + b

022.	 ¶{X ( )y b m x a+ = +1   VWm 

( )y b m x a+ = +2  nadb¶ y ax42 =  

H$s Xmo ñne© aoImE± hmo Vmo

	 (A)	 m m 1=21 	

	 (B)	 1m m =-21

	 (C)	 0m m+ =21 	

	 (D)	 1m m+ =-21

023.	 EH$ H$U na Xmo ~b 4 3i j k+ -t t t VWm 

i j k3 + -t t t bJo h¢ Am¡a H$U {~ÝXþ 3i j k2+ +t t t

go {~ÝXþ i j k5 4+ +t t t na {dñWm{nV hmo OmVm h¡& 

~bm| Ûmam {H$¶m J¶m Hw$b H$m¶© h¡:

	 (A)	 20 ‘mÌH$	 (B)	 30 ‘mÌH$

	 (C)	 40 ‘mÌH$	 (D)	 50 ‘mÌH$

024.	 ¶{X g{Xe mi j k3 4+ +t t t, i j mk3 + -t t t VWm 

i mj k6- + +t t t EH$ g‘Vbr¶ hm| Vmo m  H$m ‘mZ 

h¡:

	 (A)	 – 1	 (B)	 0

	 (C)	 1	 (D)	 2
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025.	 em§H$d 

	 x xy y x y14 4 11 44 58 71 02 2- + - - + =  

H$m Ho$ÝÐ h¡:

	 (A)	 (3, 2)	 (B)	 (2, 3)

	 (C)	 (3, 3)	 (D)	 (2, 2)

026.	 ¶{X dH«$ xy = c2  Ho$ Mma {~ÝXþAm| (xr   , yr), 

r = 1, 2, 3, 4 na A{^b§~ EH$ {~ÝXþ na {‘bVo hmo 

Vmo y1 y2  y3  y4 ~am~a h¡:

	 (A)	 c2	 (B)	 –c2

	 (C)	 c4	 (D)	 –c4

027.	 a Ho$ ‘mZm| H$m g‘wÀM¶, {OgHo$ {bE g‘rH$aU 

(5 12 1)x y a x y13 1 13 1
2 2 2- + - = + -` `j j

	 EH$ XrK©d¥Îm H$mo {Zê${nV H$ao h¡:

	 (A)	 1< a < 2	 (B)	 a < 1

	 (C)	 2< a < 3	 (D)	 a > 1

028.	 {~ÝXþ i j k2 3- + -t t t na bJo Xmo ~bm| 2 5i j k- +t t t 

Am¡a j k3 4-t t Ho$ n[aUm‘mo H$m  {~ÝXþ i j k2 3+ +t t t 

Ho$ gmnoj g{Xe AmKyU© h¡:

	 (A)	 i j k5 4+ -t t t 	

	 (B)	 i j k5 4- -t t t

	 (C)	 i j k3 3+ -t t t 	

	 (D)	 i j k3 4+ -t t t

025.	 The centre of the conic 

	 x xy y x y14 4 11 44 58 71 02 2- + - - + =

	 is :

	 (A)	 (3, 2)	 (B)	 (2, 3)

	 (C)	 (3, 3)	 (D)	 (2, 2)

026.	 If the normals at four points (xr   , yr), 

r = 1, 2, 3, 4 on the curve xy = c2 meet in a 

point, then y1 y2  y3  y4 is equal to:

	 (A)	 c2	 (B)	 –c2

	 (C)	 c4	 (D)	 –c4

027.	 The set of values of a for which the equation

	 (5 12 1)x y a x y13 1 13 1
2 2 2- + - = + -` `j j

represents an ellipse, is :

	 (A)	 1< a < 2	 (B)	 a < 1

	 (C)	 2< a < 3	 (D)	 a > 1

028.	 The vector moment about the points 

i j k2 3+ +t t t  of the resultant of two forces 

2 5i j k- +t t t  and j k3 4-t t   acting at the point  

i j k2 3- + -t t t , is

	 (A)	 i j k5 4+ -t t t 	

	 (B)	 i j k5 4- -t t t

	 (C)	 i j k3 3+ -t t t 	

	 (D)	 i j k3 4+ -t t t
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029.	 {dH$U© 3 2a i j k= + -v t t t VWm b i j k3 4= - +v t t t 

dmbo g‘mÝVa MVw^w©O H$m joÌ’$b h¡:

	 (A)	 5 3 	 (B)	 10 3

	 (C)	 300	 (D)	 8

030.	 nadb¶ y ax42 =  ‘| EH$ g‘~mhþ {Ì^wO A§V{Z©{hV 

Bg àH$ma h¡ {H$ CgH$m EH$ erf© ‘yb{~ÝXþ na hmo& 

BgH$s ^wOm H$s bå~mB© h¡:

	 (A)	 8 a 3 	 (B)	 8 a 

	 (C)	 4 a 	 (D)	 4 a 3

031.	 ¶{X {ÌÁ¶mE§ r1 Am¡a r2 Ho$ Xmo d¥Îm dmøV: ñne© H$a| 

Vmo CZH$s C^¶{ZîQ> ñne© aoIm H$s bå~mB© h¡&

	 (A)	 r r2 2+ 21 	 (B)	 r r21

	 (C)	 r r2 21 	 (D)	 r r
2

+1 2` j

032.	 x 0" ( )
( )lim
sin

cos
x

x
2

2 1
6
3 -

 ~am~a h¡

	 (A)	 32
1 	 (B)	 16

1

	 (C)	 16
1- 	 (D)	 32

1-

033.	 ¶{X x = secθ – cosθ VWm y = secnθ – cosnθ Vmo 

	 x dx
dy

42
2

+` ej o  H$m ‘mZ h¡:

	 (A)	 n y 42 2 +` j	 (B)	 x y 42 2 +` j

	 (C)	 4y2 + 	 (D)	 y x 42 2 +` j

029.	 The area of the parallelogram having diagonals 

3 2a i j k= + -v t t t  and b i j k3 4= - +v t t t , is

	 (A)	 5 3 	 (B)	 10 3

	 (C)	 300	 (D)	 8

030.	 An equilateral triangle is inscribed  in the 

parabola y ax42 =  with one of its vertices at 

origin. The length of its side is

	 (A)	 8 a 3 	 (B)	 8 a 

	 (C)	 4 a 	 (D)	 4 a 3

031.	 If two circles of radii r1 and r2 touch 

externally then length of a common tangent is

	 (A)	 r r2 2+ 21 	 (B)	 r r21

	 (C)	 r r2 21 	 (D)	 r r
2

+1 2` j

032.	 x 0" ( )
( )lim
sin

cos
x

x
2

2 1
6
3 -

 is equal to

	 (A)	 32
1 	 (B)	 16

1

	 (C)	 16
1- 	 (D)	 32

1-

033.	 If x = secθ – cosθ and y = secnθ – cosnθ then

	 the value of x dx
dy

42
2

+` ej o  is

	 (A)	 n y 42 2 +` j	 (B)	 x y 42 2 +` j

	 (C)	 4y2 + 	 (D)	 y x 42 2 +` j
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034.	 ¶{X x TRf  Ho$ {bE ( ) ( )sin cosf x x x1= +  

Vmo ( )f x  ‘mZ àmßV H$aVm h¡:

	 (A)	 x = p/3  na {ZåZV‘	

	 (B)	 x =  p  na {ZåZV‘

	 (C)	 x = p/3 na CÀMV‘

	 (D)	 x = p  na CÀMV‘

035.	 5‘r2 H$s Am¶aZ erQ> go EH$ Iwbm ~³gm ~ZmZm 

h¡& ~³go H$m AmYma EH$ dJ© hmoZm h¡& ¶{X ~³go H$m 

Am¶VZ CÀMV‘ hmo Vmo BgH$s D±$MmB© h¡:

	 (A)	 2
1

3
5  ‘r	 (B)	

3
2  ‘r

	 (C)	 4 3 ‘r	 (D)	 2 3  ‘r

036.	 ¶{X f EH$ Eogm ’$bZ h¡ {H$ ( ) 9f 9 =  VWm 

	 ( ) 3f 9 =l  Vmo x 9"
( )lim
x
f x

3
3

-

-
 ~am~a h¡:

	 (A)	 9	 (B)	 3

	 (C)	 1	 (D)	 0

037.	 2 3x x dx
4
- + -

2
` j#  H$m ‘mZ h¡:

	 (A)	 1	 (B)	 2

	 (C)	 3	 (D)	 5

038.	 ¶{X dH«$ e x1 2y = +  H$mo {H$gr ñne© aoIm H$s 

àdUVm m hmo Vmo 

	 (A)	 1m > 	 (B)	 1m#

	 (C)	 1m < 	 (D)	 1m #

034.	 If ( ) ( )sin cosf x x x1= +  for x TRf  then 

( )f x  attains its :

	 (A)	 minimum at x = p/3

	 (B)	 minimum at x =  p

	 (C)	 maximum at x = p/3

	 (D)	 maximum at x = p

035.	 An open box is to be made of iron sheet of 

5m2. The base of box has to be a square. If 

the volume of box is maximum, its height is:

	 (A)	 2
1

3
5  m	 (B)	

3
2  m

	 (C)	 4 3  m	 (D)	 2 3  m

036.	 If f is a function such that ( ) 9f 9 =  and

	 ( ) 3f 9 =l  then x 9"
( )lim
x
f x

3
3

-

-
 is equal 

	 to :

	 (A)	 9	 (B)	 3

	 (C)	 1	 (D)	 0

037.	 The value of 2 3x x dx
4
- + -

2
` j#  is

	 (A)	 1	 (B)	 2

	 (C)	 3	 (D)	 5

038.	 If m is the slope of a tangent to the curve 

e x1 2y = + ,  then

	 (A)	 1m > 	 (B)	 1m#

	 (C)	 1m < 	 (D)	 1m #
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039.	 n " 3
lim n r

1
r

n

1

4

+=
/  H$m ‘mZ h¡:

	 (A)	 loge5	 (B)	 loge3

	 (C)	 0	 (D)	 1

040.	 aoIm a
x

b
y

2+ =  dH«$ 2a
x

b
y

n

n

n

n
+ =  H$mo P na 

	 ñne© H$aVr h¡ Vmo {~ÝXþ P h¡:

	 (A)	 (a, b)	 (B)	 (b, a)

	 (C)	 (1, 1)	 (D)	 a b1 -,b l

041.	 AdH$b g‘rH$aU ( )log logx dx
dy

y y x 1= - +  

H$m hb h¡:

	 (A)	 log y
x cy= 	 (B)	 log x

y
cy=

	 (C)	 log y
x cx= 	 (D)	 log x

y
cx=

042.	 W ^madmbr EH$ N>‹S> AB H$mo gr‹T>r H$s Vah BgHo$ 

D$nar {gao A H$mo EH$ {MH$Zr D$Üdm©Ya Xrdma na 

{Q>H$mH$a VWm {ZMbo {gao H$mo IwaXao g‘Vb na aIm 

J¶m h¡& ¶{X N>‹S> {’$gbZ {~ÝXþ Ho$ gpÝZH$Q> hmo Vmo 

A na à{V{H«$¶m h¡ ({X¶m h¡ µ Kf©U JwUm§H$ h¡):

	 (A)	 µ W	 (B)	 W

	 (C)	 W
n

	 (D)	 BZ‘| go H$moB© Zht

039.	 The value of  n " 3
lim n r

1
r

n

1

4

+=
/   is:

	 (A)	 loge5	 (B)	 loge3

	 (C)	 0	 (D)	 1

040.	 The line a
x

b
y

2+ =  touches the curve

	 2a
x

b
y

n

n

n

n
+ =  at P, then the point P is

	 (A)	 (a, b)	 (B)	 (b, a)

	 (C)	 (1, 1)	 (D)	 a b1 -,b l

041.	 The solution of the differential equation

	 ( )log logx dx
dy

y y x 1= - +  is 

	 (A)	 log y
x cy= 	 (B)	 log x

y
cy=

	 (C)	 log y
x cx= 	 (D)	 log x

y
cx=

042.	 A bar AB of weight W rests like a ladder with 

upper end A against a smooth vertical wall 

and the lower end B on a rough horizontal 

plane. If the bar is just on the point of sliding, 

then the reaction at A is equal to (given that 

m is coefficient of friction) :

	 (A)	 µ W	 (B)	 W

	 (C)	 W
n

	 (D)	 None of these
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043.	 Xmo ~bm| P Am¡a Q Ho$ ‘hÎm‘ g§^d n[aUm‘r ~b 

H$m ‘mZ CZHo$ Ý¶yZV‘ n[aUm‘r H$m 5  JwZm h¡& 

~bm| P Am¡a Q Ho$ ~rM H$m H$moU θ h¡& ¶[X CZH$m 

n[aUm‘r 2 PQ  h¡ Vmo θ ~am~a h¡:

	 (A)	 p/3	 (B)	 p/4

	 (C)	 p/6	 (D)	 p/2

044.	 EH$ àjoß¶ H$m j¡{VO Vb na namg CgHo$ Ûmam àmßV 

‘hÎm‘ D±$MmB© H$m VrZ JwZm h¡& ¶{X àjoß¶ H$m àjon 

doJ u  hmo Vmo CgH$m CS²>S>¶Z H$mb h¡:

	 (A)	 g
u
5
8 	 (B)	 g

u
5
4

	 (C)	 g
u2 	 (D)	 g

u

045.	 EH$ H$U EH$g‘mZ ËdaU go EH$ gab aoIm ‘| 

J{V‘mZ hmoVo hþE bJmVma A§Vamb t1 Am¡a t2 goHo$ÊS> 

‘| a VWm b ‘rQ>a H$s Xÿar V¶ H$aVm h¡& V~ ËdaU h¡:

	 (A)	 ( )t t t t
at bt
+
+1 2

2 11 2
	

	 (B)	 ( )
( )
t t t t
at bt2
+
- 21

2 11 2

	 (C)	 ( )t t t t
bt at
+
-1 2

2 11 2
	

	 (D)	 ( )
( )
t t t t
bt at2
+
- 21

2 11 2

043.	 The greatest possible resultant of two forces 

P and Q is 5  times their least resultant. The 

forces P and Q are inclined each other at an 

angle θ. If their resultant is 2 PQ , then θ is 

equal to :

	 (A)	 p/3	 (B)	 p/4

	 (C)	 p/6	 (D)	 p/2

044.	 A projectile has range on a horizontal plane 

equal to three times the maximum height 

attained by it. If u be the velocity of projection 

of the projectile then its time of flight is :

	 (A)	 g
u
5
8 	 (B)	 g

u
5
4

	 (C)	 g
u2 	 (D)	 g

u

045.	 A particle moving in a straight line with 

uniform acceleration describes a and b metres 

in successive intervals of t1 and t2 seconds. 

Then the acceleration is :

	 (A)	 ( )t t t t
at bt
+
+1 2

2 11 2
		

	 (B)	 ( )
( )
t t t t
at bt2
+
- 21

2 11 2

	 (C)	 ( )t t t t
bt at
+
-1 2

2 11 2
	

	 (D)	 ( )
( )
t t t t
bt at2
+
- 21

2 11 2
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046.	 The product of two times of flight of a 

projectile from a point P so as to pass another 

point Q. is:

	 (A)	 g
PQ

	 (B)	 g
2PQ

	 (C)	 g2
PQ

	 (D)	 g4
PQ

047.	 A bullet of mass m moving with velocity u 

strikes a block of mass M which is free to 

move in the direction of motion of the bullet 

and is embedded in it. The percent of loss in 

kinetic energy is:

	 (A)	 m
100M 	 (B)	 M

100m

	 (C)	 m M
100m
+

	 (D)	 mM
100M
+

048.	 A uniform beam of length 2a rests in 

equilibrium against a smooth vertical wall 

and upon a peg at a distance b from the wall. 

The inclination of the beam to the vertical is:

	 (A)	 sin b
a1 3

1
- b l 	 (B)	 tan a

b1 3
1

- b l

	 (C)	 sin a
b1 3

1
- b l 	 (D)	 cos a

b1 3
1

- b l

046.	 {H$gr àjoß¶ H$mo EH$ {XE JE doJ go {~ÝXþ P go Bg 

àH$ma à{jßV H$aZo {Oggo dh EH$ AÝ¶ {~ÝXþ Q go

hmoH$a Om¶o, CgHo$ Xmo CS²>S>¶Z H$mbm| H$m JwUZ’$b h¡:

	 (A)	 g
PQ

	 (B)	 g
2PQ

	 (C)	 g2
PQ

	 (D)	 g4
PQ

047.	 Ðì¶‘mZ m H$s EH$ Jmobr doJ u go J{V H$aVr hþB© 

Ðì¶‘mZ M Ho$ EH$ Hw$ÝXo, Omo Jmobr H$s J{V H$s 

{Xem ‘| MbZo ‘o ñdV§Ì h¡, Ho$ A§Xa Y±g OmVr h¡& 

J{VO D$Om© H$s à{VeV hm{Z h¡:

	 (A)	 m
100M 	 (B)	 M

100m

	 (C)	 m M
100m
+

	 (D)	 mM
100M
+

048.	 EH$ gd©Ìg‘ 2a bå~r X§S> gmå¶mdñWm ‘|, EH$ 

{MH$Zr Xrdma go gQ>H$a VWm Xrdma go b Xÿar na EH$ 

Iy±Q>r na, pñWV hmoH$a, h¡& X§S> H$m D$Üd© go PwH$md h¡:

	 (A)	 sin b
a1 3

1
- b l 	 (B)	 tan a

b1 3
1

- b l

	 (C)	 sin a
b1 3

1
- b l 	 (D)	 cos a

b1 3
1

- b l
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049.	 A shot of mass m is fired from a gun of mass 

M with velocity u relative to the gun. The 

actual velocities of the shot and gun are :

	 (A)	 ,m
u

m
mu

M
M

M+ +
	

	 (B)	 ,m
u

m
u

M
(M m)

M
(M m)

-

+

+

-

	 (C)	 ,m
mu

m
u

M M
M

+ +
	

	 (D)	 ,m
u

m
u

2M
(M m)

2M
(M m)

-

+

+

+

050.	 The value of the determinant 

	 a b c
b
c

a
b c a

c

a
b

c a b
2
2

2

2

2
2

- -

- -

- -

  
is

	 (A)	 a b c+ + 	

	 (B)	 a b c
2

+ +` j

	 (C)	 a b c
3

+ +` j

	 (D)	 a b c abc33 3 3+ + -

049.	 Ðì¶‘mZ m H$m EH$ Jmobm Ðì¶‘mZ M H$s EH$ ~§XÿH$ 

go ~§XÿH$ Ho$ gmnoj u doJ go XmJm OmVm h¡& Jmobo Am¡a 

~§XÿH$ Ho$ dmñV{dH$ doJ h¡:

	 (A)	 ,m
u

m
mu

M
M

M+ +
	

	 (B)	 ,m
u

m
u

M
(M m)

M
(M m)

-

+

+

-

	 (C)	 ,m
mu

m
u

M M
M

+ +
	

	 (D)	 ,m
u

m
u

2M
(M m)

2M
(M m)

-

+

+

+

050.	 gma{UH$ 
a b c

b
c

a
b c a

c

a
b

c a b
2
2

2

2

2
2

- -

- -

- -

 

	 H$m ‘mZ h¡:

	 (A)	 a b c+ + 	

	 (B)	 a b c
2

+ +` j

	 (C)	 a b c
3

+ +` j

	 (D)	 a b c abc33 3 3+ + -
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051.	 à{VpîR>V {àËOH$a nwañH$ma OrVZo dmbo nhbo ̂ maVr¶ 
dmñVwH$ma H$m¡Z Wo?

	 (A)	 amO aodb	

	 (B)	 hm’$sO R>oHo$Xma

	 (C)	 Mmëg© H$mo[a¶m	

	 (D)	 ~mbH¥$îU Xmoer

052.	 M§S>rJ‹T> ‘| Bg B‘maV H$mo {H$gZo ~Zm¶m h¡?

	
	 (A)	 H$aU J«moda	 (B)	 bo H$m°ã¶w©Ea

	 (C)	 AmB©.E‘.noB©	 (D)	 ’«¢$H$ Eb. amBQ>

053.	 VmO‘hb {H$g g§J‘a‘a go ~Zm h¡?
	 (A)	 ‘H$amZm g§J‘a‘a	

	 (B)	 BVmbdr g§J‘a‘a

	 (C)	 H$bH$Îmm g§J‘a‘a

	 (D)	 AmJam ìhmBQ> g§J‘a‘a

054.	 Bg ^dZ H$m Zm‘ ³¶m h¡?

	

	 (A)	 dm°Q>a ’$m°b hmCg	

	 (B)	 ñQ´>r‘ BZ nmoM© ao{OS>|g

	 (C)	 ’$m°qbJ dmQ>g©

	 (D)	 Q>oaog hmCg

051.	 Who was the first Indian architect to win the 
prestigious pritzker Prize?

	 (A)	 Raj Rewal	

	 (B)	 Hafeez Contractor

	 (C)	 Charles Correa

	 (D)	 Balkrishna Doshi

052.	 Who designed this building in Chandigarh?

	

	 (A)	 Karan Grover	 (B)	 Le Corbusier

	 (C)	 I.M.Pei	 (D)	 Frank L. Wright

053.	 Taj Mahal is made up of which material?
	 (A)	 Makrana Marble	

	 (B)	 Italian Marble

	 (C)	 Calcutta Marble

	 (D)	 Agra White Marble

054.	 What is the name of this building?

	

	 (A)	 Waterfall house	
	 (B)	 Stream-in-Porch residence
	 (C)	 Falling waters
	 (D)	 Terrace house
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055.	 Where is the Victoria Memorial situated?

	 (A)	 Kolkata, India	

	 (B)	 Vatican City, Italy

	 (C)	 Melbourne, Australia

	 (D)	 London, England

056.	 How many types of perspectives exist?

	 (A)	 Four	 (B)	 Five

	 (C)	 Three	 (D)	 Six

057.	 Which Indian architect is famous for his 
works with bricks?

	 (A)	 Laurie Baker	

	 (B)	 B.V. Doshi

	 (C)	 Christopher Benninger

	 (D)	 Raj Rewal

058.	 Which one of these cities is not a part of the 
smart city initiative?

	 (A)	 Saharanpur	 (B)	 Rajkot

	 (C)	 Silvassa	 (D)	 Noida

059.	 Where does the sun set on the 23rd of 
December in the Northern hemisphere?

	 (A)	 South-West	 (B)	 West

	 (C)	 North-West	 (D)	 South-East

060.	 Which one is not a flowering tree?

	 (A)	 Amaltas	

	 (B)	 Gulmohur

	 (C)	 Cherry Blossom

	 (D)	 Maple

055.	 {d³Q>mo[a¶m ‘o‘mo[a¶b H$hm± pñWV h¡?

	 (A)	 H$mobH$mVm, ^maV	

	 (B)	 do{Q>H$Z {gQ>r, BQ>br

	 (C)	 ‘ob~moZ©, Am°ñQ´>o{b¶m

	 (D)	 b§XZ, B§½b¢S>

056.	 {H$VZo àH$ma Ho$ ng©nop³Q>d ‘m¡OyX h¢?

	 (A)	 Mma	 (B)	 nm§M

	 (C)	 VrZ	 (D)	 N>h

057.	 {H$g ^maVr¶ dmñVwH$ma Zo BªQ>m| Ho$ gmW AnZo H$m¶m] 
Ho$ {bE à{g{Õ nmB© h¡?

	 (A)	 bm°ar ~oH$a	

	 (B)	 ~r. dr. Xmoer

	 (C)	 {H«$ñQ>mo’$a ~oqÞJa

	 (D)	 amO aodb

058.	 BZ‘| go H$m¡Z gm eha ñ‘mQ>© {gQ>r nhb H$m {hñgm 
Zht h¡?

	 (A)	 ghmaZnwa	 (B)	 amOH$moQ>

	 (C)	 {gëdmgm	 (D)	 ZmoES>m

059.	 CÎmar JmobmY© ‘| 23 {Xg§~a H$mo gy¶© H$hm§ AñV hmoVm 
h¡?

	 (A)	 X{jU-n{ü‘	 (B)	 n{ü‘

	 (C)	 CÎma n{ü‘	 (D)	 X{jU nyd©

060.	 H$m¡Z gm EH$, ’y$b H$m no‹S> Zht h¡?

	 (A)	 A‘bVmg	

	 (B)	 Jwb‘moha

	 (C)	 Moar ãbm°g‘

	 (D)	 ‘onb
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061.	 What is the top part of the pillars supporting 
the slab called?

	 (A)	 Coping	 (B)	 Cornice

	 (C)	 Bracket	 (D)	 Stile

062.	 What is the full form of A.C.P.?

	 (A)	 Aluminium Composite Panel	

	 (B)	 Aggregate Concrete paste

	 (C)	 Anti-Corrosion Plating

	 (D)	 Advanced Composite Powder

063.	 What is the CGS system used to measure?

	 (A)	 Weight	 (B)	 Length

	 (C)	 Volume	 (D)	 All of the above

064.	 What is the factor of conversion from feet 
to millimetre?

	 (A)	 1:300	 (B)	 1:304.8

	 (C)	 1:12	 (D)	 1:409.6

065.	 IIM Ahmedabad is designed by?

	 (A)	 Phillip Johnson	

	 (B)	 Louis I. Kahn

	 (C)	 Charles Eames

	 (D)	 A. Kanvinde

066.	 Which stone is used in Dilwara temples?

	 (A)	 Granite	

	 (B)	 Marble

	 (C)	 Sandstone

	 (D)	 Kota

061.	 N>V H$mo ghmam XoZo dmbo ñV§^m| H$m g~go D$nar ^mJ 

³¶m h¡?

	 (A)	 H$moqnJ	 (B)	 H$m{Z©g

	 (C)	 ~«¡Ho$Q>	 (D)	 ñQ>mBb

062.	 E.gr.nr. H$m nyam ê$n ³¶m h¡?

	 (A)	 Eë¶w‘r{Z¶‘ H$ånmo{OQ> n¡Zb	

	 (B)	 EJ«rJoQ> H§$H«$sQ> noñQ>

	 (C)	 E§Q>r-H$amo{gAm| ßbmqQ>J

	 (D)	 ES>dm§ñS> H$ånmo{OQ> nmCS>a

063.	 gr.Or.Eog {gñQ>‘ go ³¶m Zmnm OmVm h¡?

	 (A)	 ^ma	 (B)	 b§~mB©

	 (C)	 ‘mÌm	 (D)	 Cnamo³V g^r

064.	 ’$sQ> go {‘br‘rQ>a VH$ ê$nm§VaU H$m H$maH$ ³¶m h¡?

	 (A)	 1:300	 (B)	 1:304.8

	 (C)	 1:12	 (D)	 1:409.6

065.	 AmB©AmB©E‘ Ah‘Xm~mX {H$gHo$ Ûmam {S>µOmBZ {H$¶m 

J¶m h¡?

	 (A)	 {’${bn Om°ZgZ	

	 (B)	 bwB© AmB© H$mZ

	 (C)	 Mmëg© Eåg

	 (D)	 E H$mÝdmB§S>o

066.	 {Xbdm‹S>m ‘§{Xam| ‘| {H$g nËWa H$m Cn¶moJ {H$¶m J¶m 

h¡?

	 (A)	 J«oZmBQ>	

	 (B)	 g§J‘a‘a

	 (C)	 ~bwAm nËWa

	 (D)	 H$moQ>m
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067.	 Identify the logo

	

	 (A)	 Larson and Turbo	

	 (B)	 Larsen and Toubro

	 (C)	 Lakshmi Machine Works

	 (D)	 Livingston and Toboult

068.	 Identify the logo

	

	 (A)	 Medical Council of India	

	 (B)	 One plus

	 (C)	 Pharmacy Council of Indis

	 (D)	 Frame Squared

069.	 Identify the logo

	

	 (A)	 Camel	 (B)	 Camlin

	 (C)	 Camper	 (D)	 Crayon

067.	 bmoJmo H$mo nhMmZ|

	

	 (A)	 bmg©Z Am¡a Q>~m}	

	 (B)	 bmg}Z E§S> Qw>~«mo

	 (C)	 bú‘r ‘erZ d³g©

	 (D)	 {bqd½ñQ>moZ Am¡a Q>mo~m¡ëQ>

068.	 bmoJmo H$mo nhMmZ|

	

	 (A)	 ‘o{S>H$b H$m¢{gb Am°’$ B§{S>¶m	

	 (B)	 dZ ßbg

	 (C)	 ’$m‘}gr H$m¢{gb Am°’$ B§S>rg

	 (D)	 ’«o$‘ ñ¹¡$aoS>

069.	 bmoJmo H$mo nhMmZ|

	

	 (A)	 H$‘ob	 (B)	 H$‘{bZ

	 (C)	 H¢$na	 (D)	 H«o$¶m°Z
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070.	 Identify the logo

	

	 (A)	 Google Goggle	

	 (B)	 Titan eye+

	 (C)	 Lens Kart

	 (D)	 Chasmewala

071.	 Identify the logo

	

	 (A)	 Snapdeal	 (B)	 Box-out

	 (C)	 Cubex	 (D)	 Myntra

072.	 Pick the odd one out in the given sequence

	

	 (A)	 D	 (B)	 A

	 (C)	 B	 (D)	 C

070.	 bmoJmo H$mo nhMmZ|

	

	 (A)	 JyJb Jm°Jb	

	 (B)	 Q>mBQ>Z Am°¶+

	 (C)	 b|g H$Q>©

	 (D)	 Mí‘odmbm

071.	 bmoJmo H$mo nhMmZ|

	

	 (A)	 ñZ¡nS>rb	 (B)	 ~m°³g-AmCQ>

	 (C)	 Hw$~o³g	 (D)	 q‘Ìm

072.	 {XE JE AZwH«$‘ ‘| {^ÝZ EH$ H$mo MwZ|&

	

	 (A)	 D	 (B)	 A

	 (C)	 B	 (D)	 C
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073.	 Which option shows the correct top view of 
the given 3 dimensional composition?

	

	 (A)	 	

	

	 (B)	

	 (C)	

	 (D)	 	

074.	 Complete the given series

	 8, 12, 28, 284, ..........

	 (A)	 844	 (B)	 65820

	 (C)	 7952	 (D)	 456

073.	 H$m¡Z gm {dH$ën {XE JE 3 Am¶m‘r aMZm H$m ghr 

erf© Ôí¶ {XImVm h¡?

	

	 (A)	 	

	

	 (B)	

	 (C)	

	 (D)	 	

074.	 Xr JB© l¥§Ibm H$mo nyam H$a|&
	 8, 12, 28, 284, ..........

	 (A)	 844	 (B)	 65820

	 (C)	 7952	 (D)	 456
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075.	 Which of these does not form part of 
Reinforced Cement Concrete?

	 (A)	 Steel	 (B)	 Sand

	 (C)	 Lime	 (D)	 Cement

076.	 What is considered as a standard height of a 
dining table in millimetre?

	 (A)	 850	 (B)	 750

	 (C)	 900	 (D)	 650

077.	 What is considered as a standard height of a 
chair in millimetre?

	 (A)	 450	 (B)	 300

	 (C)	 400	 (D)	 350

078.	 What is the width in millimetre of a fire 
staircase as per latest fire bylaws?

	 (A)	 2000	 (B)	 1200

	 (C)	 1500	 (D)	 1800

079.	 Complete the series.
15 – 57

82 – 38

109 – 911

47 – ------

	 (A)	 87	 (B)	 15

	 (C)	 85	 (D)	 98

075.	 BZ‘| go à~{bV gr‘|Q> H§$H«$sQ> H$m ³¶m {hñgm Zht 
h¡?

	 (A)	 ñQ>rb	 (B)	 aoV

	 (C)	 MyZm	 (D)	 gr‘|Q>

076.	 ImZo H$s ‘oµO H$s {‘br‘rQ>a ‘| ‘mZH$ D$±MmB© ³¶m 
h¡?

	 (A)	 850	 (B)	 750

	 (C)	 900	 (D)	 650

077.	 Hw$gu H$s {‘br‘rQ>a ‘| ‘mZH$ D$±MmB© ³¶m h¡?

	 (A)	 450	 (B)	 300

	 (C)	 400	 (D)	 350

078.	 ZdrZV‘ ’$m¶a ~m¶bm°O Ho$ AZwgma ’$m¶a gr‹T>r H$s$ 

{‘br‘rQ>a ‘| ³¶m Mm¡‹S>mB© h¡?

	 (A)	 2000	 (B)	 1200

	 (C)	 1500	 (D)	 1800

079.	 Xr JB© l¥§Ibm H$mo nyam H$a|&

15 – 57

82 – 38

109 – 911

47 – ------

	 (A)	 87	 (B)	 15

	 (C)	 85	 (D)	 98



4 - DA ]	 [ 22 ]	 [ Contd...

22
22
22
22
22
22
22
22
22
22
22
22
22
22

080.	 Count the number of triangles in the given 
figure.

	

	 (A)	 17	 (B)	 15

	 (C)	 25	 (D)	 21

081.	 Count the number of squares in the given 
figure

	 (A)	 19	 (B)	 20

	 (C)	 21	 (D)	 18

082.	 Identify the relationship and finish the series.

Red – Blue
Yellow – Violet
Orange – Indigo
Green –

	 (A)	 Cyan	 (B)	 Magenta

	 (C)	 Black	 (D)	 White

080.	 {XE JE {MÌ ‘| {ÌH$moU H$s g§»¶m H$s JUZm H$a|&

	

	 (A)	 17	 (B)	 15

	 (C)	 25	 (D)	 21

081.	 {XE JE {MÌ ‘| dJm] H$s g§»¶m H$s JUZm H$a|&

	

	 (A)	 19	 (B)	 20

	 (C)	 21	 (D)	 18

082.	 g§~§Y H$s nhMmZ H$a| Am¡a l¥§Ibm H$mo nyam H$a|&

bmb - Zrbm
nrbm - d¢JZr
Zma§Jr - B§{S>Jmo
ham -

	 (A)	 {g¶mZ	 (B)	 ‘¡O|Q>m

	 (C)	 H$mbm	 (D)	 g’o$X
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083.	 Complete the given sequence.

	

	 (A)	 	 (B)	

	 (C)	 (D)	

084.	 Complete the given series

	 25, 30, 42, ........, 85

	 (A)	 65	

	 (B)	 53

	 (C)	 49

	 (D)	 75

085.	 Pick the odd one out in the given sequence

	

	 (A)	 D	 (B)	 A

	 (C)	 B	 (D)	 C

083.	 Xr JB© l¥§Ibm H$mo nyam H$a|&

	

	 (A)	 	 (B)	

	 (C)	 (D)	

084.	 Xr JB© l¥§Ibm H$mo nyam H$a|&

	 25, 30, 42, ........, 85

	 (A)	 65	

	 (B)	 53

	 (C)	 49

	 (D)	 75

085.	 {XE JE AZwH«$‘ ‘| {^ÝZ EH$ H$mo MwZ|&

	

	 (A)	 D	 (B)	 A

	 (C)	 B	 (D)	 C
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086.	 Which one of the following CANNOT be the 
front view (elevation) of the given plan (top 
view)?

	

	 (A)	 	

	 (B)	

	 (C)	

	 (D)	

087.	 Count the number of exposed surfaces in the 
given figure.

	
	 (A)	 29	 (B)	 37
	 (C)	 36	 (D)	 27

086.	 {ZåZ ‘| go H$m¡Z gm {XE JE erf© Ôí¶ H$m gm‘Zo 

dmbm Ôí¶ Zht hmo gH$Vm?

	

	 (A)	 	

	 (B)	

	 (C)	

	 (D)	

087.	 {XE JE {MÌ ‘| COmJa gVhm| H$s g§»¶m H$s JUZm H$a|&

	

	 (A)	 29	 (B)	 37
	 (C)	 36	 (D)	 27
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088.	 Xr JB© l¥§Ibm H$mo nyam H$a|&

	

	 (A)	 	

	

	 (B)	

	 (C)	

	 (D)	

089.	 Xr JB© l¥§Ibm H$mo nyam H$a|&

	

	 (A)	 	

	

	 (B)	

	 (C)	 	

	 (D)	

088.	 Complete the given sequence.

	

	 (A)	 	

	

	 (B)	

	 (C)	

	 (D)	

089.	 Complete the given sequence.

	

	 (A)	 	

	

	 (B)	

	 (C)	 	

	 (D)	
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090.	 Which option shows the correct plan of the 
given side view of the composition?

	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

091.	 Identify the pattern and complete the series.

	 SCD, TEF, UGH, ........, WKL

	 (A)	 CMN	 (B)	 UIJ

	 (C)	 VIJ	 (D)	 IJT

092.	 Find the odd one out

	 5, 7, 15, 17, 41

	 (A)	 17	 (B)	 15

	 (C)	 7	 (D)	 41

090.	 H$m¡Z gm {dH$ën Xr JB© aMZm H$m ghr erf© Ôí¶ 

{XImVm h¡?

	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

091.	 g§~§Y H$s nhMmZ H$a| Am¡a l¥§Ibm H$mo nyam H$a|&
	 SCD, TEF, UGH, ........, WKL

	 (A)	 CMN	 (B)	 UIJ

	 (C)	 VIJ	 (D)	 IJT

092.	 {XE JE AZwH«$‘ ‘| {^Þ EH$ H$mo MwZ|&
	 5, 7, 15, 17, 41

	 (A)	 17	 (B)	 15

	 (C)	 7	 (D)	 41
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093.	 Count the total number of edges in the given 
figure.

	

	 (A)	 35	 (B)	 43

	 (C)	 45	 (D)	 30

094.	 Which option shows the correct elevation 
from the mentioned side of the given figure?

	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

093.	 {XE JE {MÌ ‘| {H$Zmam| H$s Hw$b g§»¶m H$s JUZm 
H$a|&

	

	 (A)	 35	 (B)	 43

	 (C)	 45	 (D)	 30

094.	 H$m¡Z gm {dH$ën ~VmE JE H$moU go Xr JB© Vñdra 

H$m ghr gmBS> ì¶y {XImVm h¡?

	

	 (A)	

	 (B)	

	 (C)	

	 (D)	
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095.	 Identify the relationship to complete the series

	 BfJL, MOUy, EgQY, .........., HBdV

	 (A)	 oZNF	 (B)	 PuYV

	 (C)	 MkDE	 (D)	 ILJt

096.	 Which option shows the correct side view of 
the given figure?

	

	 (A)	 	 (B)	

	 (C)	 	 (D)	

097.	 If A + B means A is the mother of B; A - B 
means A is the brother of B; A % B means A 
is the father of B and A × B means A is the 
sister of B, which of the following shows that 
P is the maternal uncle of Q?

	 (A)	 Q - N + M × P	

	 (B)	 P + S × N - Q

	 (C)	 P - M + N × Q

	 (D)	 Q - S%P

095.	 g§~§Y H$s nhMmZ H$a| Am¡a l¥§Ibm H$mo nyam H$a|&

	 BfJL, MOUy, EgQY, .........., HBdV

	 (A)	 oZNF	 (B)	 PuYV

	 (C)	 MkDE	 (D)	 ILJt

096.	 {XE JE {MÌ H$m ghr gmBS> Ñí¶ H$m¡Z gm {dH$ën 

{XImVm h¡?

	 	

	 (A)	 	 (B)	

	 (C)	 	 (D)	

097.	 AJa A+B H$m ‘Vb~ A, B H$s ‘m§ h¡; A-B  H$m 

‘Vb~ A, B H$m ^mB© h¡; A % B  H$m AW© A, B 

H$m {nVm Am¡a A × B H$m AW© h¡ A, B H$s ~hZ h¡, 

{ZåZ ‘| go H$m¡Z gm {dH$ën Xem©Vm h¡ {H$ P, Q H$m 

‘m‘m h¡?

	 (A)	 Q - N + M × P	

	 (B)	 P + S × N - Q

	 (C)	 P - M + N × Q

	 (D)	 Q - S%P
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098.	 Introducing a boy, a girl said, “He is the son 
of the daughter of the father of my uncle.’’ 
How is the boy related to the girl?

	 (A)	 Brother	 (B)	 Nephew

	 (C)	 Uncle	 (D)	 Son-in-law

099.	 Which option shows the correct plan of the 
given figure?

	

	 (A)	 	

	

	 (B)	

	 (C)	 	

	 (D)	

098.	 EH$ b‹S>Ho$ H$mo noe H$aVo hþE, EH$ b‹S>H$s Zo H$hm, 

""dh ‘oao MmMm Ho$ {nVm H$s ~oQ>r H$m ~oQ>m h¡&'' 

b‹S>H$m b‹S>H$s go H¡$go g§~§{YV h¡?

	 (A)	 ^mB©	 (B)	 ^VrOm

	 (C)	 MmMm	 (D)	 Xm‘mX

099.	 {XE JE {MÌ H$m ghr erf© Ñí¶ H$m¡Z gm {dH$ën 

{XImVm h¡?

	

	 (A)	 	

	

	 (B)	

	 (C)	 	

	 (D)	
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100.	 Which option shows the correct plan of the 
given figure?

	

	 (A)	 	

	 (B)	

	 (C)	 	

	 (D)	

100.	 {XE JE {MÌ H$m ghr erf© Ôí¶ H$m¡Z gm {dH$ën 

{XImVm h¡?

	

	 (A)	 	

	 (B)	

	 (C)	 	

	 (D)	
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Q.No. Ans. Q.No. Ans. Q.No. Ans. Q.No. Ans. 

1. B 26. D 51. D 76. B 

2. A 27. D 52. B 77. A 

3. A 28. B 53. A 78. A 

4. B 29. A 54. C 79. C 

5. C 30. A 55. A 80. A 

6. D 31. C 56. D 81. B 

7. D 32. D 57. A 82. B 

8. B 33. A 58. D 83. A 

9. B 34. C 59. A 84. B 

10. C 35. A 60. D 85. D 

11. C 36. B 61. C 86. D 

12. C 37. C 62. A 87. A 

13. C 38. D 63. D 88. D 

14. A 39. A 64. B 89. B 

15. B 40. A 65. B 90. B 

16. C 41. D 66. B 91. C 

17. C 42. A 67. B 92. B 

18. B 43. A 68. B 93. C 

19. D 44. A 69. B 94. A 

20. C 45. D 70. C 95. A 

21. A 46. B 71. A 96. D 

22. B 47. D 72. D 97. C 

23. C 48. C 73. A 98. A 

24. D 49. A 74. B 99. A 

25. B 50. C 75. C 100. C 

 


